Adigao até 100 (horizontal)

20+79 =

83+35=

53+9=

19 +27 =

4+77 =

93+75=

18 +30 =

67+55=

89+ 8=

Encontro: Data: Pontuagao:

80 + 86 =

89 +97 =

74 + 88 =

87+ 76 =

58+10=

48+ 10 =

82+ 61 =

99 + 10 =

T+1=

I8+ 15=
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Adigao até 100 (horizontal)

38+7=45

20+79 =99

83+35=118

53+9=062

19 +27 =46

4+77 =8l

93 +75 =168

18 +30 = 48

67+55=122

89 +8=97

Encontro: Data:

80 + 86 = 166

89 +97 = 186

74 +88 = 162

87+ 76 =163

58 +10 = 68

48+ 10 = 58

82+ 61 =143

99 +10 = 109

7+1=28

18+15=33
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Pontuacao:
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